S — B AR R K

TEME EEHE ET)

Rk295E12 A28 H  BRAL 15,891,000
T = 4 JERT 7 — Nk f T2
T = % AT =JEHEET—T B
NFLAE F 5 —E AFL& s [E] = [A] P 5 34 ANFLE K4
(31 A T2
Fri 7 = it T 2500
HALRE 15,800,000 B8 T (6
PEFLATRE 17,064,000 M TEALE R ZET8-20-18 i (K FRAmEE (EEBLE £T)
(HEHZET) JESE T 14,301,000




B — BB e AL R E TEME HEHE ET)

Rk295E12 A28 H  BRAL 2,391,000
T = 4 SR ERE T E (e E E RT3 T 547 2 D2
T = % AT = JE T V8 R ETRET
NFLAE F 5 —[E AFL& % (A = [A] P 5 34 ANFLE K4

Stk 2,103,000 () LIASHE
Kotk 2,105,000 7 A-o—FR

Y 2,110,000 (R)aRFn B

<t EFLEE 2,110,000 ) —REERR

2,250,000 CIERE
PEFLATRE 2,278,800 M TEALE =R TERT 1449 i (K FRAmEE (EEBLE £T)

(BEBiEET) () — R 2,107,000 [




S — B AR R K

TEME HEHE ET)

Rk295E12 A28 H  BRAL 1,525,000
T = 4 H R ERE T E (TEE W 135#)
T = % AT ZJFEmfE—TH
NFLAE F 5 —[E AFL& % (A = [A] P 5 34 ANFLE K4
R HAFLE
VEALE 1,450,000 (b e
1,498,000 )L A
PEFLATRE 1,566,000 M TEALE =R HI/NRETT24 i (K FRAmEE (EEBLE £T)
(HEHZET) (R kR 1,338,000 M




S — B AR R K

TEME HEHE ET)

Rk295E12 A28 H  BRAL 6,397,000
T = 4 AR AMER 55 XI5 7K & Brax TE(29-1T.[X)
T = % AT “EHAREN T B
NFLAE F 5 —E AFL& s [E] = [A] P 5 34 ANFLE K4
R 5,612,000 B R
N 5,618,000 B~z A
VERLIRGE 5,623,000 R
5,640,000 WIER T3
6,300,000 = B R RR IR
PEFLATRE 6,072,840 M TEALE =R T ARHT iR AR6393-1 i (K FRAmEE (EEBLE £T)
(HEHZET) ()7 P AR 5,623,000 [




G — M B R N KL R R E TrEfs GHEEBLE =97
Rk295E12 A28 H  BRAL 12,743,000
T = 4 i L FIFREEG M 5 K E e T35
T = % it =R AGERT FIE
NALRE 3 F—EIAFLE S | & = [a] P 5 34 ANFLE K4
R ()7 [ 5%
BB GG 5
BB 7 = it T 2500
<t VEFLILIE 11,468,000 WK TEYT L
qV 11,468,000 B AA B TR
PEFLATRE 12,385,440 M TEALE =R ZET3-18-3 i (K FRAmEE (EEBLE £T)
11,468,000

(HEHZET)

K TRV T v




S — B AR R K

TEME HEHE ET)

Rk295E12 A28 H  BRAL 11,368,000
T = 4 AHAREZEHEME 5 KERER TH
T = % AT =R A GERT SR R
NALRE 3 5 —E AFL& s [E] & = [a] P 5 34 ANFLE K4
(31 7 = itk T 20
q 10,231,000 B AA A TER
q 10,231,000 K TRV T v
Y 10,231,000 ()78 [ 3% {
<L VEALRTE 10,231,000 R 76 B
PEFLATRE 11,049,480 M TERLE =R 5£2-5-25 wARHIBRmAS CEERE £T)

(HEHZET)

R 7 R

10,231,000 M




B — BB e AL R E TEME HEHE ET)

Rk295E12 A28 H  BRAL 3,598,000
T = 4 SR ERE T E (B AT B ERR)
T = % AT =R A FERT SRR
NFLAE F 5 —[E AFL& % (A = [A] P 5 34 ANFLE K4
EEE EflaEE
VEALIRE 3,560,000 PR
3,580,000 A R
PEFLATRE 3,844,800 M TERLE =R AT HFE 17801 i (K FRAmEE (EEBLE £T)

(BEBiEET) (Rl RE 3,170,000 [




B — BB e AL R E TEME HEHE ET)

Rk295E12 A28 H  BRAL 8,948,000

T = 4 MIE R ZE AR T

T = % AT ZE I ARFIET R AL
NFLAE F 5 —[E AFL& % (A = [A] P 5 34 ANFLE K4

EEE R Hh %

<t EALEEE 7,886,000 U e

<t 7,886,000 15/KBLEER)

8,500,000 ol
PEFLATRE 8,516,880 M TERLE =R RFNET_EEH935 wARHIBRmAS CEERE £T)

(BEBiEET) BT B 7,871,000 [




S — B AR R K

TEME HEH £

Rk295E12 A28 H  BRAL 2,127,000
T = 4 ERPKE K EER THE
T = % AT KRR TRER
NFLAE F F—EIAFLE s [E] & = [a] P 5 34 ANFLE K4
(31 BT R
AR B~ 7T
VEALIRAE 2,125,000 /K BLEEA)
PEFLATRE 2,295,000 M TEALE =R RFIET KE2058 i (K FRAmEE (EEBLE £T)
(HEHZET) 1Bk ELZE) 1,887,000 M




S — B AR R K

TEME HEHE ET)

Rk295E12 A28 H  BRAL 1,886,000
T = 4 =R/ R E TFE (BE5 LX)
T = % AT ZEm AR KB
AMLEE | SEALS %[ %= R 34 fif %

Hhe AFLIS 72 Do -7 8 NFLH I




B4 omoe AL R R R

TEME HEHR S ET)

(HEHZET)

BT P2 =R E

ERk295E12 28 H  BRAL 6,285,000
ES % 4 TERAER G EB TR CRIB1055-# 1 S 1E 25 318)
ES % % it =JEHSRIGNT B b
i 5 —E AFL& s [E] & = [a] P 5 34 ALE K4
FEE 7AW =R BT
BRI i HAREEER T =T )7 R ER
BRI ]m=t= Al F
R thE T V2 N LU B 2ERT
FEE WE—RET =T ZJRXE
FEE B)VR E B E
FEE RN sERR Bt =R U
FEE R =22k Bt
FEE 1R R A SRR 1L G
EER e R oYL 2 = R EBRAT
EE ED%{EF@ 3/*7‘/%/%(*%)): =E3N
FEE 2 =R oY LA N =R E AT
FEE r./:@:‘/%wy“/(*ﬂEJEJE%.‘%Fﬁ
R A —a YL H N = R 2T
FEE R hoF = B AT
TEFLIEE 6,250,000 i B =LA s =R E
6,280,000 o [ B ¥ SR A R = R St
6,285,000 7 — AR L Z U Z R E 2T
6,285,000 TA - = AFAERREH R E T
VAL 6,750,000 [ BALE =R T HER] 3-3-2 o KA RS GHEBE £

5,023,000 M




S — B AR R K

TEME HEEHE ET)

Rk295E12 A28 H  BRAL 7,985,000

T = 4 BRI TE(MEERR ERE)
T = % AT =R RFET K EL
NFLAE F 5 —E AFL& s [E] = [A] P 5 34 ANFLE K4

L 6,967,000 R AR

<t EALIEE 6,967,000 (R)aRFn B

7,550,000 WIER T3
PEFLATRE 7,524,360 M TERLE ZEHAE2-17-7 wARHIBRmAS CEERE £T)

(HEHZET)

VAR BA 7

6,947,000 M




S — B AR R K

TEME HEHE ET)

Rk295E12 A28 H  BRAL 10,049,000
T = 4 TIEAHET T %5 T i E R B TH
T = % AT = RTARIBET R AR
NFLAE F 5 —E AFL& s [E] = [A] P 5 34 ANFLE K4

(31 = B AR
N 8,890,000 ERD e

i 8,908,000 (R FE

<t PEALPEE 8,908,000 WIER T3

10,040,000 E)~Ar R
PEFLATRE 9,620,640 M TERLE =R T AR ET R 72920 wARHIBRmAS CEERE £T)

(HEHZET)

WEIESR T3

8,908,000 M




